HPS 11l - 230V
HeiRkanaldiisen - Nozzles

Inhalt/Content

2-5 Ubersicht
Overview

6-13 HPS 1lI-S @ 12 mm

14 - 20 Einbauhinweise
Assembly notes

21 -23 Vorkammerbuchsen
Gate bushes

Alle MaRe in diesem Katalog beziehen
sich auf EWIKON HeiBRkanalkomponenten
im aufgeheizten Betriebszustand

All dimensions in this catalogue refer to
EWIKON hotrunner components in heated
operating condition

EWIKON

£
£
N
-
Q
&
N
N
o
<
£
£
N
-
Q
Q
N
-
=
©
C
©
=
=
Q
L

HPSIII_3-12_Kap04-12_HK_DE-EN.indd -1-

02/20

Einzeldlsen
Single nozzles

Zentrierringe
AngieRbuchsen
Locating rings
Sprue bushings

Verteilersysteme
Manifold systems

£
£
N
-
=
8 E
s &
g
T o
x—
<z N
o O
Irz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories



Einzeldusen
Single nozzles

Zentrierringe
Angielbuchsen
Locating rings
Sprue bushings

Verteilersysteme

Manifold systems

zzle @ 12 mm

£
£
N
-
Q
(]
n
H=}
3
[]
(=
©
X
2
(1)

(<}
Irz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories

HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlII-S @ 12 mm
Ubersicht

AuBenbeheizt, mit Spitzendichtung
Standardmontage 95408-V01 . ..
Frontmontage 95409-V01 . ..

1 Einzusetzen mit
Druckstlick 17537 fir Verteiler

EWIKON

HPS IlI-S @ 12 mm

Overview

Externally heated, with tip sealing technology
Standard installation 95408-V01 . ..
Front installation 95409-V01 . ..

1 For use with pressure pad
17537 for manifold

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

-2- 02/20




HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlII-S @ 12 mm
Ubersicht

Oy
.
&l
‘ Beispiel
example
| HPS Il T

}\f\ 212mm
)

95408—-V01... 250

30

I

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

EWIKON

HPS IlI-S @ 12 mm

Overview

Einzeldlsen
Single nozzles

Zentrierringe
AngieRbuchsen
Locating rings

@N N77557
©

1]

Beispiel
| Beispial
HPS Il T

3\?\ #12mm
il @

Verteilersysteme
Manifold systems

95409—-V01...

50

£
g
N
-
Q
[}
(7]}
H=}
)
©
c
©
L
=
[}
I

Nozzle @ 12 mm

Einbauhinweise

Allgemeine
General

z222-20

-3- 02/20

Zubehor
Accessories

Sprue bushings

HPS 11l

Assembly notes



Einzeldusen
Single nozzles

Zentrierringe
Angielbuchsen
Locating rings
Sprue bushings

Verteilersysteme

Manifold systems

zzle @ 12 mm

£
£
N
-
Q
(]
n
H=}
3
[]
(=
©
X
2
(1)

(<}
Irz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories

HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlII-S @ 12 mm
Ubersicht

AuBenbeheizt, mit Spitzendichtung
Standardmontage 95408-V01 . ..
Frontmontage 95409-V01 . ..

Anspritzgeometrien

Diisenspitze mit Spitze

-B1
-B2

-C1
-C2

Kontur direkt im Einsatz (2)

Kontur direkt im Einsatz mit Kugelkalotte (3)

fir schnellerstarrende oder verstarkte Materialien
Vorkammerbuchse Standard

Vorkammerbuchse mit Kugelkalotte

fir schnellerstarrende oder verstarkte Materialien

Schraubvorkammer Standard
Schraubvorkammer mit Kugelkalotte
fir schnellerstarrende oder verstarkte Materialien

verlangerte Schraubvorkammer Standard
verlangerte Schraubvorkammer mit Kugelkalotte
fur schnellerstarrende oder verstarkte Materialien

Disenspitze offen

-D
-D

-E
-F

Kontur direkt im Einsatz
Vorkammerbuchse Standard

Schraubvorkammer Standard
verlangerte Schraubvorkammer

EWIKON

HPS IlI-S @ 12 mm

Overview

Externally heated, with tip sealing technology
Standard installation 95408-V01 . ..
Front installation 95409-V01 . ..

Gating geometries

Nozzle insert with tip

-A  Contour directly in the insert (2)

-A  Contour directly in the insert with ball geometry (3)
or rapidly freezing or reinforced materials

-A Standard gate bush

-A  Gate bush with ball geometry
for rapidly freezing or reinforced materials

-B1 Standard screw-on gate bush

-B2 Screw-on gate bush with ball geometry
for rapidly freezing or reinforced materials

-C1 Extended standard screw-on gate bush

-C2 Extended screw-on gate bush with ball geometry
for rapidly freezing or reinforced materials

Open tip

-D Contour directly in the insert

-D Standard gate bush

-E Standard screw-on gate bush

-F  Extended screw-on gate bush

Bestellbeispiel/Ordering Example:
95408-V01.050-A-17550-V02

—|: |—Spitze/Tip
Version
MaR/Dim. X

Type

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

02/20




HPS Ilil - 230V

EWIKON

. . "
HeiRkanaldiisen - Nozzles c 8
83
'_O C
T
N D
£ £
o »
HPS IlI-S @ 12 mm HPS IlII-S @ 12 mm
Ubersicht Overview
G o O
o % %E
DEG PR
£ES5=9
Eo o3
LZE o
#12,/95408—\V01... /95409 VO1... 228 2
O S O &
. —A—17550-V02 | | ..—A—19085—W4 . —A—22396-W3 W —A—22398—W12 N < 1@
_17550- V02 o/ 9085—W4 ’ | ’
2 2
A % l, 22395—-W3 ) 4 22398-W12
\ \
17255 17285 E? M16x0.75 H? M16x0.75
M16x0.75 M16x0.75 H? j;
| _swie § Swi6 i%u SWi6 E%
215 515 }L".,;;,~ 215 }L{ 0 2
/ € o
L%
2
>0
CAD/negativ_2 CAD/negativ_3 7Y
L5
o E
/NS~ 2%
> =

...—B1-19085—-W4

...—B2-19085— W4

.. —C1-19085—W4

... —C2—-19085—W4

° 19085—W4 o 19085— W4 o 19085— W4 o 19085— W4 £
£
22744 22745 22746 22747
|®1776x0.75 |®1/76x0.75 ®1116x0.75 ®1116x0.75 o
§“ Sw24 Sw24 Qe
o€
§ 3
N sy
ge
622 922 ge
2 N
[T
Iz
HPS 111
...—D—16873 ...—E£—=15592 —F—=15592 —A ...—D
— —
15592 15592 1 854007 1 84007
16873 i i ‘ ‘
" le——— 22748 22749
17 ! M16x0.75 ! M16x0.75 250 7. 960
! ‘ ‘ | | GU-)> 8
@ Swi6 4 L =
! 3 ‘ ‘ [ ¢84009 ™4, 54010 L E
C
= | |ssacs | ££53
5 | g22 EZOE
2 | 600 922 922 §€ S 2
| i = A
2222-21
()
.90
= <
2 2
HPSIII_3-12_Kap04-12_HK_DE-EN.indd -5- 02/20 e 8
S5 O
N <



Einzeldusen
Single nozzles

Zentrierringe
Angielbuchsen
Locating rings
Sprue bushings

Verteilersysteme

Manifold systems

zzle @ 12 mm

£
£
N
-
Q
(]
n
H=}
3
[]
(=
©
X
2
(1)

(<}
Irz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories

HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlI-S @ 12 mm

HeiRkanaldiise Version -A

-A Kontur direkt im Einsatz

oder mit Vorkammerbuchse
Standardmontage 95408-V01 . . .
Disenspitze mit Spitze

Maf X: 050/070/090/110/130/150/200/
250/300 /350 mm

X = Dusenkorperunterkante bis Artikeloberflache

Anspritz-@D: min. 2,0 mm, max. 4,0 mm

2 Standard

3 Kugelkalotte fir schnellerstarrende
oder verstarkte Materialien

EWIKON

HPS IlI-S @ 12 mm

Nozzle version -A

-A  Contour directly in the insert or
with gate bush

Standard installation 95408-V01 . ..

Nozzle insert with tip

Dim. X: 050/070/090/110/130/150/200/
250/300 /350 mm

X = Lower edge of nozzle body to article surface

Gate-@D: min. 2.0 mm, max. 4.0 mm

2 Standard

3 Ball geometry for rapidly freezing
or reinforced materials

Bestellbeispiel/Ordering Example:
95408-V01.050-A-17550-V02

|:Mar.’s/Dim. X

Type

—|: I— Spitze/Tip
Version

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

-6 - 02/20




HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlI-S @ 12 mm

HeiRkanaldiise Version -A

EWIKON

HPS IlI-S @ 12 mm

HeiRkanaldiise Version-A

250
428 6
|2
‘mz‘ © oD
Az
T - Z;
S T = ;
K L‘J w = } \ ?
| | | |
240 I Tl
- | i
H*TH #% _17550-V02 _19085— W4
> [ 84008... | |
| 84009.. ‘ o (/285 o 7285 M
[ l i l ] T ? SWi6 ? SWi6 CAD /negativ_2
©
954 95408-voi... ¢ m
CAD /negativ_3
) )
(o’ 22398—W3 ./? 22398—W12
H; M16x0.75 H; M16x0.75
i 3 i
‘t'?u Swi6 }%u Swi6
}Lq',} 815 }L%’ 515
Y,
—
| |
o
i
T T 7  gud biegb
i 7Xbe/2gag7e
22.5005 81.5%5 min.R15 25 1.500 flexible
> ‘ & 84007...
] L 23
1 ‘ I : /Qﬁj,} /¢7 .
| e Ep— 230V
< | [ N TS —— =——=== Thermo
© \ g1 | \ 23 82
1 H *FH 84008.150
X b 84009.150
! biegb
S ‘ 7Xbe/igog/re
= 60%° min.R15 21 1.500 flexible
LLHJ ~135

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

2222-02

02/20

n
e
o N
&9
EC
o2
N O
£ £
w wn
5,5
0]

mw%_g
@gc_c
£S5t 98
Eo o3
O 2 C
T 0= O
== 0 S
CcC OO0 =
O S O &
N<<J®»

Verteilersysteme
Manifold systems

£
g
N
-
Q
[}
(7]}
H=}
)
©
c
©
L
=
[}
I

Nozzle @ 12 mm

HPS 11l

[0} ()
®o Q8
) o
o S c
£ £ >
D=0
EZOE
o)
‘QCU‘)
2c o 3
<w O
()
K<)
= O
:0
< 3
O O
o 0
S5 O
N <



Einzeldusen
Single nozzles

Zentrierringe
Angielbuchsen
Locating rings
Sprue bushings

Verteilersysteme

Manifold systems

zzle @ 12 mm

£
£
N
-
Q
(]
n
H=}
3
[]
(=
©
X
2
(1)

(<}
Irz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories

HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlI-S @ 12 mm

HeiRkanaldiise Version -A

-A Kontur direkt im Einsatz

oder mit Vorkammerbuchse
Frontmontage 95409-VO01 . ..
Disenspitze mit Spitze

Mafld X: 030/050/070/090/110/130/180/
230/280/330 mm

X = Dusenkorperunterkante bis Artikeloberflache

Anspritz-@D: min. 2,0 mm, max. 4,0 mm

2 Standard

3 Kugelkalotte fir schnellerstarrende
oder verstarkte Materialien

EWIKON

HPS IlI-S @ 12 mm

Nozzle version -A

-A  Contour directly in the insert or
with gate bush

Front installation 95409-V01 . ..

Nozzle insert with tip

Dim. X: 030/050/070/090/110/130/180/
230/280/330 mm

X = Lower edge of nozzle body to article surface

Gate-@D: min. 2.0 mm, max. 4.0 mm

2 Standard

3 Ball geometry for rapidly freezing
or reinforced materials

Bestellbeispiel/Ordering Example:
95409-V01.050-A-17550-V02

|:Mar.’s/Dim. X

Type

—|: I— Spitze/Tip
Version

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

-8 - 02/20




Heitkanaldson- Nozzles EWIKON

(2]
>
% c
T 2
N O
g =
i »
HPS IlII-S @ 12 mm HPS IlII-S @ 12 mm
HeiRkanaldiise Version -A Nozzle version -A
261 o
252 ISO 4762—M6x16—min.8.8 250 7
(DIN 912—M6x16—min.8.8) ! S " 28
514 228 Ho 2 o © .
] 26 £G
1 1 ; ; 16 Eo o2
— = 5ies
o [ 1= 9 | €582
-] of P S&S&
0 =
i T | T | -
[ ; ; L I~ ~ It ==
1] \ [T f
A .
Ji, 1l o/ 7550-V02 o/ 9085— 14 )
| | i i ®
/ | 84008... i | A £ &
| " | o[ /255 o 7285 o
| | ; 25
1 SwWié SWie Q2 ©
= ‘ ~ £5
‘ 2=
55 250

95409—-V01...

A A |

?o’ A\ 22398- w3 ?o’ A 00398-W12
@ @ \4 M16x0.75 \4 M16x0.75

{7 {7

U 3

}LI“ 915 }LI“ 515

<Y

CAD /negativ_2 CAD/negativ_3

C,*A*ZZJQS* W5> C,*A*ZZJQS* W72>

£
g
N
-
Q
[}
(7]}
H=}
)
©
c
©
L
=
[}
I

Nozzle @ 12 mm

HPS 11l

l ~115

‘ ‘ 1x biegbar
; o I bendable
: | : . 555¢s min.Rl15 25 1500 flexible
| 7]
| 5= B 3 o
I ‘ Vo 833 z 43 o2 8
VA | V £ 1% o350y | ctt >
——f——- O£ 52
0 | i —— cE2 RTE
Thermo © O
| NG Nz 52 ¢ 2
=£ 0O n
< ‘ B / 23 ILOL
-
(@) |
0 HfLH )
% | ! M 84008.150 bb/egbg/r
S endable
IS ! 54009150 47 %5 min.R15 21 1500 flexible
& |
2222-03
n
.90
s O
22
HPSIII_3-12_Kap04-12_HK_DE-EN.indd -9 .- 02/20 8 8
S O
N <



Einzeldusen
Single nozzles

Zentrierringe
Angielbuchsen
Locating rings
Sprue bushings

Verteilersysteme

Manifold systems

zzle @ 12 mm

£
£
N
-
Q
(]
n
H=}
3
[]
(=
©
X
2
(1)

(<}
Irz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories

HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS III-S @ 12 mm
HeiRkanaldiise Version -B1/-B2 - -C1/-C2

-B1 Schraubvorkammer Standard

-B2 Schraubvorkammer mit Kugelkalotte
fur schnellerstarrende oder verstarkte
Materialien

Standardmontage 95408-V01 . ..
Frontmontage 95409-V01 . ..
Disenspitze mit Spitze

Anspritz-@D: min. 2,0 mm, max. 4,0 mm

-C1 verlangerte Schraubvorkammer Standard

-C2 verlangerte Schraubvorkammer mit
Kugelkalotte fiir schnellerstarrende
oder verstarkte Materialien

Standardmontage 95408-V01 . ..
Frontmontage 95409-VO01 . ..
Dusenspitze mit Spitze

Anspritz-@D: min. 2,0 mm, max. 4,0 mm

EWIKON

HPS III-S @ 12 mm
Nozzle version -B1/B2 - -C1/-C2

-B1

Standard screw-on gate bush

Screw-on gate bush with ball
geometry for rapidly freezing or
reinforced materials

Standard installation 95408-V01 ...
Front installation 95409-V01 . ..

Nozzle insert with tip

Gate-@D:

-C1

-C2

min. 2.0 mm, max. 4.0 mm

Extended standard screw-on gate bush

Extended screw-on gate bush with ball
geometry for rapidly freezing or
reinforced materials

Standard installation 95408-V01 . ..
Front installation 95409-V01 . ..

Nozzle insert with tip

Gate-@D:

min. 2.0 mm, max. 4.0 mm

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

-10 -

02/20




Heitkanaldison Nozzles EWIKON

(2]
c N
s N
e
o)
N O
£ £
w
HPS III-S @ 12 mm HPS III-S @ 12 mm
HeiRkanaldiise Version -B1/-B2 - -C1/-C2 Nozzle version -B1/B2 - -C1/-C2
Version -B1/-B2
0>
o) q‘/’) %.E
DEG PR
g5 =9
Eo o3
O X2 C
527/ S
$28 5
N<Cad®»w
>
o 2
€ o
~ - - o
w
95409—V01...—B1,/-B2 2o
T 2
= [
[0 ©
> S

S
£
7222-04 o8
Qe
o £
Version -C1/-C2 =N
_—
§ Q
]
2 N
o O
Iz
s HPS 11l
| I
’TH o 9085 W4 o 19085~ W4
| ‘ | 034
- ‘ 0 22746 22747
©
e §‘ Sw24 Sw24
L J ) 0
7] 2] 2
i oo Y 2o N 20 2 >
2 I T —5
3 i | | 25T g
i 2320
i | | SE§5 g
<O
95408-V01... —=C1,/C2
95409—V01... —C1/C2
2222-05
()
K
= 9
2 2
HPSIII_3-12_Kap04-12_HK_DE-EN.indd -11 - 02/20 e 8
=®)
N <



Einzeldusen
Single nozzles

Zentrierringe
Angielbuchsen
Locating rings
Sprue bushings

Verteilersysteme

Manifold systems

zzle @ 12 mm

£
£
N
-
Q
(]
n
H=}
3
[]
(=
©
X
2
(1)

(<}
Irz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories

HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlI-S @ 12 mm

HeiRkanaldiise Version -D - -E - -F

-D Kontur direkt im Einsatz oder
mit Vorkammerbuchse Standard

Standardmontage 95408-V01 . ..
Frontmontage 95409-VO01 . ..

Dusenspitze offen @ 4,0 mm

Anspritz-@D: min. 3,5 mm, max. 5,0 mm

-E Schraubvorkammer Standard

Standardmontage 95408-V01 . ..
Frontmontage 95409-VO01 . ..

Dusenspitze offen @ 4,0 mm

Anspritz-@D: min. 3,5 mm, max. 5,0 mm

-F verlangerte Schraubvorkammer Standard

Standardmontage 95408-V01 . . .
Frontmontage 95409-VO01 . ..

Dusenspitze offen @ 4,0 mm

Anspritz-@D: min. 3,5 mm, max. 5,0 mm

ACHTUNG:

Bei offenen Diisen muss der Anspritz-& der
Vorkammergeometrie mindestens 0,5 mm kleiner sein
als der @ der Diisenspitze. Sollte ein anderer Anspritz-@
gewtinscht werden, bitte Riicksprache mit EWIKON.

EWIKON

HPS IlI-S @ 12 mm

Nozzle version -D - -E - -F

-D  Contour directly in the insert or
with gate bush standard

Standard installation 95408-V01 . ..
Front installation 95409-V01 . ..

Open tip @ 4.0 mm

Gate-@D: min. 3.5 mm, max. 5.0 mm

-E Standard screw-on gate bush

Standard installation 95408-V01 . ..
Front installation 95409-V01 . ..

Open tip @ 4.0 mm

Gate-@D: min. 3.5 mm, max. 5.0 mm

-F Extended standard screw-on gate bush

Standard installation 95408-V01 . ..
Front installation 95409-V01 . ..

Open tip @ 4.0 mm

Gate-@D: min. 3.5 mm, max. 5.0 mm

ATTENTION:

Nozzles with open tip inserts

The gate diameter of the insert has to be at least 0.5 mm
smaller than the diameter of the insert. Please contact
EWIKON, if a different gate diameter is requested.

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

-12 - 02/20




Heitkanaldison Nozzles EWIKON

(2]
c N
s N
e e
o)
N O
C C
(IT))
HPS IlII-S @ 12 mm HPS IlII-S @ 12 mm
HeiRkanaldiise Version -D - -E - -F Nozzle version -D - -E - -F
Version -D
52
HD—:‘H mm 88 2=
| | | g =2 = %
< b bl g2 ol
! e 584070... ! 285 e
max.150 cC OO0 o
| ﬂ $£385
1
~7
95408—V01..~D D
22 95409—V01..~D 815
834
z222-06 GE) g
(0]
2%
w
Version -E >0
3
o=
= [
is
| 15592
\ 22748
94 \ Swo4
95408—-V01... a0
95409—VO1...

z222-07

S
£
N
-
Q
3 £
3
S -
g
S o
X —
2 N
o O
Irz

Version -F 512 ' HPS Il
e

,LH ‘
[ 15592
| ‘ | 34 ‘ o———
~ | \ 22749
T o4 T | Sw24
e
ﬁl: Q a
on (0]
1 K% 2
) o)
Il i
0 i — x ‘ o 0o 2 £
el I £ £ >
| i =44
I =
! ‘ \ ‘ 232 o
Jlz <582
95408-V01... —F
95409—V01... —F 299908
()
K
= 9
2 2
HPSIII_3-12_Kap04-12_HK_DE-EN.indd =13 - 02/20 e 8
R <



Hoitkanaldson- Nozzles EWIKON

n
c N
89
e
o2
c 2
i »
HPS llI-S @ 12 mm HPS llI-S @ 12 mm
Einbauhinweise Assembly notes
Einbau Diisenkopf und -schaft Installation nozzle heat and shaft
Standardmontage 95408-V01 . .. Standard installation 95408-V01 . . .
505
n
&6 25
= 5= a
52 22 1 Fixierung der Duse fir den Spitzenwechsel 1 Locating pin when tip inserts need to be exchanged
£L2%/ S im Werkzeug in mould
NEE)
2 Einbau mit Vorkammerbuchse 2 Installation with gate bush
3 Einbau mit Schraubvorkammer oder 3 Installation with screw-on gate bush or
direkt im Einsatz directly in the insert
n
e £ @ @ ..,
2 % 290 "
E 2 ik RO.2
o= P
+ C
g3 ‘ g W/ ‘ | @
| J - ! | i
~ max.R1 ‘ g > ‘ ;m i
i 22.5 +o00s5 } Eg ©®
| oa8 ‘ £3
E ! A MT/ B
1 238 o
- I S R 77
Qe
8 E 248 +o1
g
e T T
o O example

HPS Il T

4
@ [ 212mm
HPS III 963 457 h

\eé@\ R F— )
g S LT‘J $ s | \ }
H |
‘ ’ A%,
3 3 | \
0 2 |
g 2 § g Hf\if g A** 6
ez 3 5 s bl $ b
D S =0 > > >
o€ ga | ©
Eg 5 E ! |
o5 2o |
Sc o P
<O
@22 ‘ ‘
o ‘ ‘ ‘ ISO 8734—4m6x12 g 900
" Lo (DIN6325—4m6x12) Lz o
ﬂ 0 ‘
[T l R
NIKD] |
S—
N
H7
P 2222.09
n
Q0
= g
:0
< 3
= o HPSIII_3-12_Kap04-12_HK_DE-EN.indd -14 - 02/20
>S5 O
N <



Heitkanaldison Nozzles EWIKON

(2]
&N
3 3
Hee ) (=
g o
N D
£
TR %)
HPS 1lI-S @ 12 mm HPS 1lI-S @ 12 mm
Einbauhinweise Assembly notes
Einbau Diisenkopf und -schaft Installation nozzle heat and shaft
Frontmontage 95409-V01 . .. Front installation 95409-V01 . ..
() O .=
26 E£G
£ o
1 Einbau mit Vorkammerbuchse 1 Installation with gate bush o % 2 g
= 2% 5
CcC OO0 =
2 Einbau mit Schraubvorkammer oder 2 Installation with screw-on gate bush or QESH
direkt im Einsatz directly in the insert
263 o (72}
E§
2
25
s o]
ok
c
ol g3
16
0~
14755
L1x4s° /
Fes T £
S—— 212mm E
@ 2 W :
‘ B Q
iR i N ) © E
[ 2
— I f — ‘\ H 'U ﬁ
i ‘J : i H ! g Q
\ \ i BT S o
| k J\r & | \k é?g
i T2
- HPS 11l
N N ! ‘ ! S
i
|
. NN
222 L@j ‘ ‘ ! q[/_)) g
ISO 4762—M6x16—min.8.8 J Ko) ©
(DIN 912—M6x16=min.8.8) e o E i
TK61 % -tCDU g %
w2 |, o€ g4
— ‘ <w O <
; i N B P
% :
g e s
?F ; 1 i Y [ z max. @6“5
sy| °F g i
SS 6.6 _ s
TG A=A © g 487 | 0.3x45°
> = 11 > ’: ! jﬁl
O EZZI NG
063 | 2222-10
3
5 @
23
HPSIII_3-12_Kap04-12_HK_DE-EN.indd -15 - 02/20 e 8
R <



Zentrierringe

AngieRbuchsen Einzeldusen

Locating rings

Verteilersysteme
Manifold systems

£
£
N
-
Q
(]
n
H=}
3
[]
(=
©
X
2
(1)

I

Single nozzles

zzle @ 12 mm

[<]
4

Sprue bushings

HPS 11l

Allgemeine

Einbauhinweise

General

Zubehor

Accessories

Assembly notes

HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlI-S @ 12 mm

Einbauhinweise

Einbaugeometrie im Anspritzbereich
Kontur direkt im Einsatz
95408-V01...-A - 95409-V01...-A

1 Standardgeometrie: @D = 2,0 mm, max. 4,0 mm

2 mit Kugelkalotte fur schnellerstarrende oder

verstarkte Materialien, @D = 2,0 mm, max. 4,0 mm

EWIKON

HPS IlI-S @ 12 mm

Assembly notes

Installation geometry in the gate area
contour directly in the insert
95408-V01...-A - 95409-V01...-A

1 Standard geometry: @D = 2.0 mmm, max 4.0 mm

2 With ball geometry for rapidly freezing or
reinforced materials, @D = 2.0 mm, max 4.0 mm

X 002

238 0
R
100° 232
|
\ 015 *5° 215 *§”
15 | ~ ~
J ‘ - 2 2
§
& — 212
5 o S o3 S o3
— My [S] [l IS I
° | = < | oL | 0
I\ ‘09 ‘ Lo ‘ (e}
Z * ;
\\ \ \
2D
max. 4
\) .
¢75 +gv07 ¢75 +g.07
g 3
5 & S &
=] < (2.278) = (2.278)
% 7 -A 22398— W3 i - > o3 B >
{AY| p— _ p R5.2 h 10 R5.2 5
1|1 o < o N
i
L NN NN
.‘ 9, ——
I\ N g R 8
¢ N" 214.8-02 N" ?14.8-02
2D 2D
min.2 max. 4
80~ @ 80° @
2222-11
HPSIII_3-12_Kap04-12_HK_DE-EN.indd -16 - 02/20



Heitkanaldison Nozzles EWIKON

(2]
c 2
8 8
Hee ) (=
g o
N D
c c
i »
HPS llI-S @ 12 mm HPS llI-S @ 12 mm
Einbauhinweise Assembly notes
Einbaugeometrie im Anspritzbereich Installation geometry in the gate area
Kontur direkt im Einsatz contour directly in the insert
95408-V01...-D - 95409-Vv01...-D 95408-V01...-D - 95409-V01...-D s 8
o 2 S C
28 EG
£ a
1 Standardgeometrie: @D = 3,5 mm 1 Standard geometry: @D = 3.5 mm 53 2 ﬁ
527w S
2 @D max. =5,0 mm 2 @D max=5.0mm 285
N<<J®
Bei offenen Diisen muss der Anspritz-& der Nozzles with open tip inserts
Vorkammergeometrie immer mindestens 0,5 mm kleiner The gate diameter of the insert has to be at least 0.5 mm
sein als der & der Dlsenspitze. Sollte ein anderer Anspritz- smaller than the diameter of the insert. Please contact
@ gewinscht werden, bitte Rucksprache mit EWIKON. EWIKON, if a different gate diameter is requested.
(2]
(]
E§
2
N >
238 *§! 5%’
53
T g
T g2
100" 832
S \
H ‘
X i }
| S
| : :
(L-Lﬂ S - - AN
| 5 ' S
RA( | % S Qs s i E
- ‘ S 2, ‘ :g o~
2 | 2 > | 0 D -
N 8 | < A
t T o
RN\ 3
N R4 22
oD
[ ]\ mhas @ HPS 1l
ESNNG
+0.01
3 — 3 3
AT/ g 3
212 N i’ ’/i o = o=
5 Z °F N cEL =
N - V77! 5w
‘9 SN EZ5E
= ‘ g | $32¢9
\ §|; ;Is 2c ¢ 3
N‘l * : i p ILo<
'e) l X
max.
Nt R4 95.5
2D
max.5 @
By
2222-12
3
:6 8
< »
HPSIII_3-12_Kap04-12_HK_DE-EN.indd =17 - 02/20 e 8
R <



Einzeldusen
Single nozzles

Zentrierringe
Angielbuchsen
Locating rings
Sprue bushings

Verteilersysteme
Manifold systems

£
£
N
-
(]
@ £
3
S
.
S o
X =
2 N
o O
Iz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories

Hoitkanaldson- Nozzles EWIKON

HPS 1lI-S @ 12 mm HPS 1lI-S @ 12 mm
Einbauhinweise Assembly notes
Einbaugeometrie im Anspritzbereich Installation geometry in the gate area
mit Vorkammerbuchse/Schraubvorkammer with gate bush/screw-on gate bush
95408-V01 ... - 95409-V01... 95408-V01 ... - 95409-V01...
1 Einbau mit Vorkammerbuchse 1 Installation with gate bush
2 Einbau mit Schraubvorkammer 2 Installation with screw-on gate bush

948 201 p38 o'
\/\/f\/ri 7\/\N
I I
3 | | 3
b ! [ b
. | | .
I I
| |
I I
| |
1 00" 1 |
/—T—\ TOO
| |
| V‘ - |
| \ o N \ |
v | - | /
" 022" ‘ ‘ : 3
A
o .
I I I VV'}
A
| | |
I I I
H7
222
2222-13
HPSIII_3-12_Kap04-12_HK_DE-EN.indd -18 - 02/20




Heitkanaldison Nozzles EWIKON

(2]
c 9
% c
° 2
N D
£ c
i »
HPS llI-S @ 12 mm HPS llI-S @ 12 mm
Einbauhinweise Assembly notes
Einbauhinweis Schraubvorkammer Assembly note screw-on gate bush
95408-V01 ... - 95409-V01... 95408-V01 ... - 95409-V01...
505
(2]
g8 2E
£ 5= ]
1 MaR H=45mm 1 Dim.H=4.5mm 5= ?g
EL2RS
(@)} =
2 1 mm stirnseitig freistellen 2 1 mm recess on the face ,{C,’ £ § &
3 0,5 mm freistellen 3 0.5 mm recess
(2]
EE
L%
25
L
<2
| i 2
‘ E
‘ ‘ s
| & E
> ! N \ o £
| ‘ 5o
@ ‘ S
©
I\ I‘ £2
~ : X, o2H/ / @ HPS Il
f 7oA f / 0.5
|
‘ oH/
|
| | g 2
| ‘© o
[ 22 =
x! ] 253t
525 &
TLOL
z372-01
(2]
9
:6 8
< »
HPSIII_3-12_Kap04-12_HK_DE-EN.indd =19 - 02/20 e 8
R <



HPS Iil - 230V

2249-06
02/20

EWIKON

@<
S|
SO
© = SIS
n o[-
O
2 [ |
S 5 ]
= s T
2 N o= L N
N 0 L ) - B
- 9 p - L
Q8 2 I WM 3
c © L <
o
— o] S ] S
=t B El
»e s Si=—=cc: IR
oy E
H A _-—OI — ]
~ =)
N E
e . @ ux§
n b= I\
% "= i
7)) ) -
4 B Y
ﬂ ] -— ASY
N -
(®] 7
< = g - <] ;
m c = m z
nnv N o m m o = m m
0 - 0 ° M = S El x
Hee | .m - o M |
(] S o~
=/ Q2 = = ©] 3
M » < 4 g
— e 2,
b =3 5 ;
S o] 1 m,
= o c £ m
o T o
XL L
sbuiysng anidg sajou A|quiessy
sa|zzou a|bulg sbuu Bueoo SWwa)sAs plojiue|y ww g} @ 912zoN [eJauss) SOLI0SS900Y
uasnpjazuig uasyonqgaibuy awie)sAslajious) ww g} @ asnpjeueyygiaH aslemuiynequig Joyagnz

abulsLyuaz aulswab||y




HPS 11l - 230V
HeiRkanaldiisen - Nozzles

HPS IlI-S @ 12 mm

Vorkammerbuchsen

fiir HeiBkanaldiise 95408-VO01 . . . -A (-W4)
95409-VO01 . . . -A (-W4)

84008 . . . Standardgeometrie
84009 . . . mit Kugelkalotte fir verstarkte Materialien

Mafl X: 036/050/070/090/110/130/150 mm

X>150: bei X=200/250/300/350 mm
Vorkammerhiilse 84007 . . . verwenden

@D: min. 2,0 mm
max. 4,0 mm

Werkstoffoption:

-V01 Standardmaterial
-V02 verschleil¥fest

EWIKON

HPS III-S @ 12 mm
Gate bushes

For nozzle 95408-V01 . . .-A (-W4)

95409-VO01 . . .-A (-W4)

84008 . . . Standard geometry
840009 . . . With ball geometry for reinforced materials

Dim. X: 036/050/070/090/110/130/150 mm

X>150: When X=200/250 /300 /350 mm
please use locating bush 84007 . . .

@D: min 2.0 mm
max 4.0 mm

Material grade option:

-V01 Standard material
-V02 wear resistant

Bestellbeispiel/Ordering Example:

84008.050-v01/92,0

Cob
Werkstoffoption / Material grade option

MaR/Dim. X
Type

— Ay
PN

260

#50
440
N‘ $38

54008...

> 150

15
]
e

AN
N
8V)

X
max. 150

X
AN
/S
AV

z222-14

HPSIII_3-12_Kap04-12_HK_DE-EN.indd

-21 - 02/20

Einzeldlsen
Single nozzles

Zentrierringe
AngieRbuchsen
Locating rings
Sprue bushings

Verteilersysteme

Manifold systems

zzle @ 12 mm

S
g
N
-
Q
[}
(7]}
H=}
)
©
c
©
X
2
[}

o
rz

HPS 11l

Einbauhinweise
Assembly notes

Allgemeine
General

Zubehor
Accessories



Hoitkanaldson- Nozzles EWIKON

(7]
c N
&
i R
5 0
e 2
w »
HPS III-S @ 12 mm HPS III-S @ 12 mm
Vorkammerbuchsen Gate bushes
fur HeiBRkanaldiise 95408-V01...-D For nozzle 95408-V01 .. .-D
95409-V01...-D 95409-V01...-D
o » O
%é’ > £ 84010 . .. Standard 84010 . .. Standard
£ 35=5%
gg_g’é MaR X: 036/050/070/090/110/130/ 150 mm MaR X: 036/050/070/090/110/130/ 150 mm
52% 3
()] =
é E § & X>150: bei X=200/250/300/350 mm X>150: When X=200/250/300/350 mm
Vorkammerhtlse 84007 . . . verwenden please use locating bush 84007 . . .
@D: min. 3,5 mm @D: min 3.5 mm
max. 5,0 mm max 5.0 mm
Werkstoffoption: Material grade option:
()]
e g -V01  Standardmaterial -V01  Standard material
g ? V02  verschleifest -V02  wear resistant
(7]
()]
= [
<2

Bestellbeispiel/Ordering Example:
84010.050-V01/93,5

Cob
Werkstoffoption / Material grade option

Maf/Dim. X
Type

— Ay
PN

260
250
240
~ ‘ 938 < \

£
£
N
-
(]
@ £
3
S
.
S o
X —
2 N
o O
Iz

HPS 11l

84070...

> 150

15
—
Q|

AN
N
Sy

Allgemeine
Einbauhinweise
General
Assembly notes
X
= max. 150

X

222217

HPSIII_3-12_Kap04-12_HK_DE-EN.indd -22 - 02/20

Zubehor
Accessories



Heitkanaldison Nozzles EWIKON

(2]
c N
33
L R
3
N D
= =
w n
HPS IlI-S @ 12 mm HPS III-S @ 12 mm
Vorkammerbuchsen Gate bushes
Vorkammerhiilse Locating bush
84007 ... 84007 ... s
fur Heiflkanaldisen For nozzles Q2 ‘é’v £
X > 150 X > 150 £3:5%2
E o og
22 ED
84007... = =5 0 5
84007... /7 E) é:C:5)§ (:/5)_
250 L \
748 | / ‘
240 ) !
e 1 - |
N 7
@ 1 ‘
> ‘ |
‘ \
t| ‘ | > \
Artikel Nr./Article no. MaR/Dim. X MaR/Dim. Y ‘ o 2
838 m‘ 3 c qE)
84007.050 200 050 540 o % },;,
84007.100 250 100 N 2 5
84007.150 300 150 TS
©
84007.200 350 200 2=
£
S
2222-19 ﬁ
Qe
8 E
g
ge
©
2y
o O
Iz
HPS 111
s 2
() ©
o S c
£E >
ESTE
8E5 3
<i0O <
()
Ko}
:B 8
< »
HPSIII_3-12_Kap04-12_HK_DE-EN.indd -23 - 02/20 8 8
R <



	Inhalt / Content

	2 Übersicht / Overview

	6 HPS III-S Ø 12mm

	14 Einbauhinweise / Assembly notes

	21 Vorkammerbuchsen / Gate bushes 



